réf.1644747380

% DFRO6 - Fiche d’entrainement

Pas de calculatrice

| Compétence travaillée

| Difficulté | Socle commun | Nombre d’erreurs |

| Simplification de fractions | s J % \ v \ |
Simplifier au maximum.
2,6 7,2 11,8 7.5
D 17’,8 - 2) 10,2 3) 8,4 4) 85
17,4 ~10,8 17,6 —4.4
5) 12:3 - 6) 11,’7 - 7) —3’,3 8) 13,4
8.7 13,5 -9.8 5,2
57 19 10,2 A 23
8,6 14,2 1,8 15,6
13) 4:2 - 14) —57,6 1) lé,8 B 16) 11,6
5 16,2 9,3 7,6
17) —;,5 18) 13:6 B 19) 87 20) 3.4
14,3 2 2.8 1,8
2135 = 238" P64~ ) 6.2
2,5 8 11,9 —4.8
23) —17’,5 26) 11,6 27) 49 28) 34
2,6 |13 72 [12 11,8 | 59 ~7,5 15
D 177,8 ~ 189 2) 1(;,2: 17 3) 8,4; = Y 85 | 17
17,4 |58 10,8 12 17,6 16 4.4 (22
S) 12:3 e 6) 11,77 == |7 —37,3 3 8) 13,4 |67
8,7 [29 13,5 [45 9.8 [ 49 52 [13
%) 5:7 19 10) 10,2 |34 H) 3.6 | 18 12) 44 |11
86 |43 14,2 71 1,8 [3 15,6 |39
13) 4:2 ~ 121 14) 5.6 | 28 1) 16,8 |28 16) 11,6 |29
5 19 16,2 |81 9.3 [ 31 7,6 38
17) —;,5 5 |18 13,6 |68 19) 87 | 29 20) 3.4 | 17
14,3 13 27 [9 2,8 [7 1,8 [9
AEY) 12 23587 |16 B84 16 RS
= S Y W Y |y e
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